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· India's balance of payments: 5 things to know 
In 1990, India had a severe balance of payments crisis, which fuelled a series of reforms that opened the country to foreign investment. Today, India has a balance of payments surplus. 

Here's all you need to know about balance of payments and its importance: 
· What is BoP:
In a globalized world, no country is self-sufficient. Every country purchases and sells goods and services to another. This includes both public and private transactions. The balance of payments calculates the value of these transactions. Usually, the value of the outflows should be equal to the total inflow of money into the country. However, this is not so because payments are sometimes delayed or paid over a longer term. For this reason, countries can have a deficit or surplus of BoP in the short-term. A deficit is when you owe money to the world, while a surplus is when your cash inflows exceed your outflows. 
· Current account:
Balance of payments comprises of three kinds of accounts - current, capital and financial account. The current account calculates the total value of imports and exports of goods and services. The latter is called 'invisibles'. India's current account has run a deficit for many years. This deficit (CAD) hit a peak of $87.8 billion in 2012-13 on account of a high import bill - especially due to oil and gold imports. Since gold is a non-essential commodity, the government imposed measures to curb imports. As a result, trade deficit - when imports exceed exports - fell to $147.6 billion in 2013-14 from $195.7 billion the previous year. However, in terms of net trade of services, India reported a surplus of $73 billion, up from $64.9 billion in FY13. This helped the CAD fall by more than half to $32.4 billion. 
· Capital and financial accounts:
Money is also exchanged between countries through investments or other kinds of financial transactions. This is calculated in the capital and financial accounts. After the 1990 crisis when India did not have enough money left to fund its deficit, it opened markets partially to foreign investors. Today, India runs a net surplus of $33.3 billion in its capital and financial accounts. This money is used to fund the current account deficit. An increase in borrowings from outside the country has a negative impact on the capital account, while an increase in foreign investment inflows has a positive impact.
· Rupee impact:
India's capital and current accounts have a strong bearing on the rupee value. This is because, when you owe the world money, you have to sell rupee and buy dollars or other foreign currencies. Similarly, when a foreigner invests in India, rupee is bought while dollars are sold. An increase in demand for the rupee leads to an appreciation in its value and vice-versa. This was the reason why the rupee fell 20% to Rs 69-to-a-dollar levels between May and August 2013. Foreign investors exited the Indian capital market in droves, while the country's current account deficit stood at a lifetime high.
· Credit ratings:
Every country's sovereign bond - issued by the government - is analyzed by credit ratings agencies. Depending on the risks involved, a credit rating is given from time to time. Greater the risks, poorer is the credit rating. For this reason, an increase in deficit is detrimental to credit rating. This is because a high deficit is a liability. When a country owes more to the world, the risks of a default of interest payments to bond holders increase. This is the reason credit ratings agencies like Moody's and S&P issued warnings to India about its high current account and fiscal deficits.


Balance of Payments of India
Introduction:
In the modern world, there is hardly any country which is self-sufficient in the sense that it produces all the goods and services it needs.
Every country imports from other countries the goods that cannot be produced at all in the country or can be produced only at an unduly high cost as compared to the foreign supplies.
 
Similarly, a country exports to other countries the commodities which those countries prefer to buy from abroad rather than producing at home. Besides, trade of goods and services, there are flows of capital. Foreign capital flows are in the form of portfolio investment by foreign institutional investors or in the form of foreign direct investment. The balance of payments is a systematic record of all economic transactions of residents of a country with the rest of the world during a given period of time.
This record is so prepared as to measure the various components of a country’s external economic transactions. Thus, the aim is to present an account of all receipts and payments on account of goods exported, services rendered and capital received by the residents of a country, and goods imported, services received and capital transferred by residents of the country. The main purpose of keeping these records is to know the international economic position of a country which helps the Government in making decisions on monetary and fiscal policies on the one hand, and trade and payments policies on the other.
Balance of Trade and Balance of Payments:
Balance of trade and balance of payments are two related terms but they should be carefully distinguished from each other because they do not have exactly the same meaning. Balance of trade refers to the difference in values of imports and exports of commodities only, i.e., visible items only. Movement of goods between countries is known as visible trade because the movement of goods is open and visible and can be verified by the custom officials.
During a given period of time, the exports and imports may be exactly equal, in which case the balance of trade is said to be in balance. But this is not necessary because those who export and import are not necessarily the same persons. If the value of exports exceeds the value of imports, the country is said to have an export surplus. On the other hand, if the value of its imports exceeds the value of its exports, the country is said to have a deficit balance of trade.
 
Distinction between Current Account and Capital Account:
The distinction between the current account and capital account of the balance of payment may be noted. The current account deals with payment for currently produced goods and services. It includes also interest earned or paid on claims and also gifts and donations.
The capital account, on the other hand, deals with capital receipts and payments of debts and claims. The current account of the balance of payments affects the level of national income directly. For instance, when India sells its currently produced goods and services to foreign countries, the producers of those goods get income from abroad.
In other words, current account receipts have the effect of increasing the flow of income in the country. On the other hand, when India imports goods and services from foreign countries and pays them money which would have been used to demand goods and services within the country money flows out to foreign countries.
 
Thus, current account payments to foreigners involve reduction of the flow of income within the country and constitute a leakage. Thus, the current account of the balance of payments has a direct effect on the level of income in a country. The capital account, however, does not have such a direct effect on the level of income; it influences the volume of assets which a country holds.
Balance of Payments on Current Account:
Two types of Balance of Payments are distinguished: 
(1) Balance of Payments on Current Account, and
(2) Balance of Payments on Capital Account.
We first explain the meaning and components of balance of payments on current account.
Balance of payments on current account is more comprehensive in scope than balance of trade. It includes not only imports and exports of goods which are visible items but also invisible items such as foreign travel, transportation (shipping, air transport etc.), insurance, tourism, investment income (e.g. interest on investments), transfer payments i.e. donations, gifts, etc.
A country, say India, has to make payments to the other countries not only for its imports of merchandise but also for tourists travelling abroad, insurance and shipping services rendered by other countries. Further, it has to pay the royalties to foreign firms, expenditure of Indians in foreign countries, interest on foreign investment in India. These are debit items for India, since the transactions involve payments made to the rest of the world. In the same way, foreign countries import goods from India, make use of Indian films and so on, for all of which they make payments to India.
An important item which has recently emerged as an item of invisible exports is software exports which has become good foreign exchange earner. These are the credit items for India as the latter receives payments. Balance of payments thus gives a comprehensive picture of all such transactions including imports and exports of goods and services concerned.
The Table 2.4 (given below) gives the position of India’s balance of payments on current account for the years 2007-08 to 2011-12. In this table balance of payments the visible as well as invisible items of trade are given. The visible items are export-import of goods and the invisible items of balance of payments on current account are travel, transportation and insurance, interest on loans given and other investment income on private and official transfers.
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Both visible and invisible items together make up the current account. Interest on loans, tourist expenditure, banking and insurance charges, software services etc., are similar to visible trade since receipts from selling such services to the foreigners are very similar in their effects to the receipts from sales of goods; both provide income to the people who produce the goods or services.
It will be noted from Table 2.4 above that the most important item in the balance of payments on current account is balance of trade which refers to imports and exports of goods. In Table 2.4 balance of trade does not balance and shows a deficit in all the seven years. In the years 2011-12 and 2012-13 trade deficit has substantially increased. Trade deficit was over 10 per cent of GDP in both these years.
In fact, it is huge trade deficit in these two years that has caused huge current account deficit of over 4% of GDP in these two years. Economic slowdown in advanced countries and its spillover effects in Emerging Market Economies coupled with high crude oil and gold prices were responsible for sharp increase in trade deficit.
Due to surplus in invisibles account, there was a surplus on current account during 2001-2002, 2002-03 and 2003-04. In India’s balance of payments on current account from 2004-05 onwards there has been a deficit. Contrary to popular perception, deficit on current account is not always bad provided it is within reasonable limits and can be easily met by non-debt capital receipts. In fact, deficit on current account represents the extent of absorption of capital inflows in India during a year.
 
It may be noted that when there is deficit on the current account, it is financed either by using foreign exchange reserves held by Reserve Bank of India or by capital flows that come into the country in the form of foreign direct investment (FDI) and portfolio investment by FIIs, external commercial borrowing (ECB) from abroad and by NRI deposits in foreign exchange account in our banks.
However, due to global financial crisis in 2008-09, there was first slowdown and then decrease in exports. As a result, there was a large deficit of 2.4 of per cent of GDP on current account which could not be met by capital inflows as they were quite meagre ($ 8.6 billion) as a result of global financial crisis. Therefore, to finance the deficit on current account in 2008-09 we had to withdraw US $ 20 billion from our foreign exchange reserves. Again, in the two years 2011-12 and 2012-13 the current account deficit (CAD) had been quite high.
It may be noted that high current deficit tends to weaken the rupee by raising the demand for US dollars. In 2011- 12, the current account deficit tended to weaken the rupee by raising the demand for US dollars. In 2011-12, the current account deficit was 4.2 per cent of GDP. Since capital inflows in this year were not adequate to finance the current account deficit, RBI had to withdraw 12.8 billion US dollars from its foreign exchange reserves to meet the demand for US dollars.
In the year 2012-13 the current account deficit has been estimated to be even higher at 4.8 per cent of GDP, capital inflows through portfolio investment by FIIs had picked up in the latter half of 2012-13 but capital inflows through FDI had fallen. However, we managed to meet such large account deficit through capital inflows. In fact we added to our foreign exchange reserves by $3.8 billion in 2012-13.
 
Thus current account deficit poses serious challenge to macroeconomic management of the economy. The dependence on volatile capital inflows through FIIs to meet the current account deficit is unsustainable as these capital flows go back when global situation worsens and thereby cause sharp depreciation in exchange rate of rupee and crash in stock market prices.
Since in the recent years, 2011-12 and 2012-13 current account deficit has widened, this has increased the balance of payments vulnerability to sudden reversal of capital flows, especially when sizable flows comprise debt and volatile portfolio investment by FIIs. The priority has therefore been to reduce current account deficit (CAD) through improving trade balance. Efforts have been made to promote exports by diversifying the export commodity basket and export destinations.
One way to limit imports is to bring domestic prices up to the international level so that users bear the full cost. Accordingly, petrol has been decontrolled and diesel prices have been revised upward in Jan. 2013 to curtail subsidy on it. To discourage the imports of gold which has played a significant role in causing trade deficit, customs duty on its import was raised from 6% to 8% and further to 10% in July 2013.
Further, to improve the current account deficit emphasis has been on facilitating remittances and encouraging software exports that have been responsible for surplus on the invisible account. In recent years this surplus has lowered the impact of widening trade deficit on current account deficit (CAD) significantly.
 
The two components together met nearly two-thirds of the trade deficit that was more than 10 per cent of GDP in 2011-12. Remittances particularly are known to exhibit resistance when the country is hit by external shock as was evident during the global crisis of2008.
Balance of Payments on Capital Account:
In the balance of payments on capital account given in Table 2.5 important items are borrowings from foreign countries and lending funds to other countries.
This takes two forms: 
(i) External assistance which means borrowing from foreign countries under concessional rate of interest;
(ii) Commercial borrowing under which the Indian Government and the private sector borrow funds from world money market at higher market rate of interest.
Besides non-resident deposits are another important item in capital account. These are the deposits made by non-resident Indians (NRI) who keep their surplus funds with Indian Banks. Another important item in balance of payments on capital account is foreign investment by foreign companies in India. There are two types of foreign investment. First is portfolio investment under which foreign institutional investors (FIIs) purchase shares (equity) and bonds of Indian companies and Government.
The second is foreign direct investment (FDI) under which foreign companies set up plants and factories on their own or in collaboration with the Indian companies. Still another item in capital account is other capital flows in which the important source of funds is remittances from abroad sent by the Indian citizens working in foreign countries. Table 2.5 gives the position of India’s capital account for the years 2007-08 to 2012-13.
Capital inflows in the capital account can be classified into debt creating and non-debt creating. Foreign investment (both direct and portfolio) represents non-debt creating capital inflows, whereas external assistance (i.e. concessional loans taken from abroad), external commercial borrowing (ECB) and non-resident deposits are debt-creating capital inflows.
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It will be seen from Table 2.5 that during 2007-08, there was net capital inflow of 43.3 billion US dollars on account of foreign investment (both direct and portfolio). Table 2.5 gives the position of India’s balance of payments in capital account for seven years, 2007-08,2008-09,2009-10,2010- 11, 2011-12 and 2012-13.
When all items of balance of payments on capital account are taken into account we had a surplus of 107.9 billion US dollars in 2007-08. Taking into current account deficit of $ 15.7 billion on current account in year 2007-08 there was accretion to our foreign exchange reserves by $ 92.2 billion in 2007-08.
Global financial crisis affected our capital account balance as there was reversal of capital flows after Sept. 2008 with the result that we used $ 20.1 billion of our foreign exchange reserves in 2008-09 resulting in decrease of our foreign exchange reserves. That is, because we used our foreign exchange reserves equal to $ 20.1 billion, there was decline in our foreign exchange reserves by $ 20 billion in 2008-09.
The situation improved in 2009-10 as foreign direct investment (FDI) and portfolio investment by FIIs picked up. As a result there was net capital account surplus of $ 53.4 billion in 2009-10 and after meeting the current account deficit of $ 38 billion there was addition to our foreign exchange reserves by $ 13.4 billion in 2009-10. In 2010-11 also there was surplus on capital account of $ 59.7 billion and after meeting current deficit we added $ 13.1 billion in our foreign exchange reserves in 2010.11.
However, in 2011 -2012 and 2012-13 the situation regarding capital flows changed significantly and capital flows were not sufficient to meet the large current account deficit (CAD). Consequently, in 2011-12 withdrawal from foreign exchange reserves of 12.8 million US dollars was made. Capital flows are driven by pull factors such as economic fundamentals of recipient countries and push factors such as policy stance of source countries.
The capital flows have implications for exchange rate management, overall macroeconomic and financial stability including liquidity conditions. Capital account management therefore needs to emphasize promoting foreign direct investment (FDI) and reducing dependence on volatile portfolio capital inflows.
This would ensure that to the extent current account defect is bridged through capital surplus it would be better if it is done through stable and growth-enhancing foreign direct investment flows. In the present international financial situation, reserves are the first line of defence against the volatile capital flows. However, the decline in reserves as a percentage of GDP is a source of concern.
When all items of balance of payments of capital account are taken into account we had a surplus of 6.8, 53.9 and 59.7 billion US dollars in 2008-09, 2009-10 and 2010-11. Small size surplus on capital account of 6.8 billion US dollars in 2008-09 was due to large portfolio capital outflows by FII, which occurred because of global financial crisis in 2008-09. As a result of this, capital flows fell short of current account deficit of 27.9 billion US dollars resulting in deficit of 20.1 billion US dollars in 2008-09.
As a consequence our foreign exchange reserves declined by $ 20.1 billion in 2008-09. However, in 2009-10 and 2010-11, there was enough capital account surplus so that after meeting current account deficit we added to our foreign exchange reserves by $ 13.4 and $ 13.1 billion in our foreign exchange reserves in 2009-10 and 2010-11.
Further, it is important to note that surplus on capital account is mainly due to foreign investment in India, external commercial borrowing and NRI deposits which do not belong to us. These investment funds, especially foreign institutional investment funds and Non-Resident Deposits, can flow out of India if situation in India is not favourable.
This in fact happened in the year 2008-09 when as a result of global financial crisis FIIs (Foreign Institutional Investors) sold corporate shares in the Indian stock market and capital outflow from India took place on a large scale.
Determinants of Balance of Payments:
It may be further noted that when there is a deficit in the current account, it has to be financed either by using foreign exchange reserves with Reserve of Bank, if any, or by capital inflows (in the form of foreign assurance, commercial borrowing from abroad, non-residential deposits).
There are several variables which determine the balance of payments position of a country, viz., national income at home and abroad, the prices of goods and factors, the supply of money, the rate of interest, etc. all of which determine exports, imports, and demand and supply of foreign currency.
At the back of these variables lie the supply factors, production function, the state of technology, tastes, distribution of income, economic conditions, the state of expectations, etc. If there is a change in any of these variables and there are no appropriate changes in other variables, disequilibrium will be the result.
The main cause of disequilibrium in the balance of payments arises from imbalance between exports and imports of goods and services that is, deficit or surplus in balance of payments. When for one reason or another exports of goods and services of a country are smaller than their imports, disequilibrium in the balance of payments is the likely result.
Exports may be small due to the lack of exportable surplus which in turn results from low production or the exports may be small because of the high costs and prices of exportable goods and severe competition in the world markets.
Important causes of small exports are the inflation or rising prices in the country or over-valued exchange rate. When the prices of goods are high in the country, its exports are discouraged and imports encouraged. If it is not matched by other items in the balance of payments, disequilibrium emerges.
Does Balance of Payments Must Always Balance? 
It is often said that balance of payments must always balance. What does it mean? The individuals and business firms of an economy have to pay for the imports from abroad. If exports are not sufficient to pay for the imports, then how the balance of payments will be in balance.
For example, the balance of payments on current account of India has been in deficit for most of the years till 2000 01. Deficit on current account implies that the residents of a country are spending more on imports of goods and services than the incomes they are earning from exports of goods and services.
For the overall balance of payments to be in balance, this deficit in the current account of the balance of payments must be financed by selling capital assets of such as shares and bonds of companies or other assets such as gold or foreign exchange reserves of a country or by borrowing from abroad.
Both by selling assets or by borrowing from abroad, foreign capital flows into the country as has been happening in the last several years in India. These foreign capital inflows are shown in the capital account of the balance of payments which must be in surplus to finance the deficit in the current account.
Thus current account + capital account surplus = 0…. (i)
The above fact has an important lesson that must be borne in mind. If a country has no foreign currency reserves or it has no assets to sell to pay for the imports and if nobody is willing to lend to it, it will have to cut down its imports which will reduce productive activity in the economy and adversely affect economic growth of the country.
Such a crisis situation arose in India in 1991 when our foreign exchange reserves had fallen to a very low level and no one was willing to lend to us or give us aid. In fact, due to loss of confidence of foreign investors, capital outflows were taking place.
Therefore, in 1991 India had to mortgage gold to Bank of England and Central Bank of Japan to get the necessary foreign exchange to pay for the needed imports. We had to accept the pre-conditions of IMF for providing us assistance to tide over the crisis. It is interesting to note this was done under the guidance of Dr. Manmohan Singh who was then the Finance Minister.
Capital Flows and Globalisation:
The globalization of the Indian economy has an important consequence with regard to capital flows into the economy. Suppose India faces given prices of its imports and a given demand for its exports of goods and services. Under these circumstances, if domestic rate of interest is higher as compared to what exists abroad, then given the mobility of capital, capital will flow into the Indian economy to a very large extent.
This principle can be expressed as follows:
BP = NX (Yd Yf, R) + CF (If – Id) … (ii)
where BP = balance of payments, NX is net exports (i.e. exports-imports which is also called trade balance, CF stands for surplus in the capital account of the balance of payments, that is, capital flows.
The above equation reveals that trade balance (NX) is a function of level of domestic income (Yd) and foreign income (Yf) and real rate of exchange (R). An increase in the domestic income due to higher industrial growth or fall in real exchange rate of rupee will adversely affect the trade balance (NX) by increasing imports. lf– Id in equation (ii) measures net foreign investment, i.e. net capital inflows.
Further, the above equation shows that higher interest rate in India as compared to that in the foreign country such as the United States will cause large capital inflows into India. Such capital inflows actually took place in India 2009-10 and 2010-11. Due to large capital inflows into the Indian economy our foreign exchange reserves increase. However, when there are large capital outflows as occurred during 2008-09, our foreign exchange reserves decline.
3 Main Components of Balance of Payment
The following points will highlight the three main components of balance of payment.
The three main components are: 1. Current Account 2. Capital Account 3. Official Financing. 
The addition of the totals on current and capital account equal the total for official financing. Thus, if in Table 21.1 A + B + C + D = Rs. 3,000 crores, this amount would be added to the reserves or repaid to borrowers and the official financing figure would be Rs. 3,000 million (in this part of the accounts the minus represents a gain!).
 
Table 21.2: Balance of Payments Accounts: 
[image: Balance of Payments Accounts]
Component # 1. Current Account: 
This part of the balance of payments is regarded as the most important, as it shows a nation’s trading strength. If payments are greater than receipts, there is a deficit which is undesirable.
This account is subdivided, as shown in Table 21.1, into: 
 
1. Visible Trade — trade in goods
2. Invisible Trade — trade in services.
A — Visible Trade: 
The money earned from Indian exports of goods (e.g., cars sold to Nepal) is credited (added) to this account, whilst payments for imported goods (e.g., American aircraft sold in India) are debited. The difference between the totals is known as the Balance of Trade.
B — Invisible Trade: 
The income earned from the sale of Indian services abroad is known as an invisible export, e.g., an insurance premium paid by a British ship-owner to an Indian broker. When Indian residents spend money on foreign services, e.g., a week’s accommodation in London, they are creating invisible imports, because payment is going out of India.
 
The main invisibles are as follows: 
1. Government expenditure:
Government expenditure on embassies, contributions to IMF or ADB and other international bodies, military bases/forces abroad, and overseas aid. All these create a substantial deficit.
2. Interest, profits and dividends:
The earnings from loans, companies and shares, respectively, earn substantial surpluses for the Indian economy.
3. Other financial services:
The earnings of solicitors, brokers, merchants and pensioners also contribute benefits to the invisible account.
4. Transport:
The earnings on passenger carrier by sea and air are two major items.
 
5. Tourism:
This covers the expenditure of travellers abroad.
6. Private transfers:
Individuals transfer money to other countries. Most industrialised nations contain migrants who remit fluids to relatives in their family of origin.
 
A + B — Current Account Balance: 
The balance of trade (visible) and net invisibles are added, as in Table 21.1, to give, the current account balance. The net figure may be plus or minus. A deficit (-) on the current account is a warning that the nation is spending more than it is earning, in the short run.
Component # 2. Capital Account:
C — Investment: 
This account includes investment and other capital movements. Outflows create deficits (-) and inflows give surpluses (+) in the account. For instance, if an Indian trader purchases a new shop in London, this is an outflow of capital. Conversely, if Toyota (Japan) builds a showroom in Bangalore, then there is a capital inflow.
Expenditure on portfolio (paper) assets is also included in this selection of the accounts. Thus, if an Indian citizen buys shares in McDonald’s or General Motors (USA) this counts as a capital outflow.
 
The investment can also be distinguished between private and public sector. Private sector investment tends to be in buildings and paper assets held for a long period of time. Public investment, on the other hand, consists of low interest loans to underdeveloped nations (i.e., aid) where the aim is not always profitability.
Capital flows may be short-term or long term. The short-term ones tend to be unpredictable and volatile. They feature the shifting of very liquid assets (i.e., ‘hot’ money) between nations to gain the advantage of favourable interest-rate differentials.
In the short run, net inward investment benefits the balance of payments accounts because official financing is not needed — reserves can be accumulated and borrowing repaid. However, in the long run, it may be harmful. The profits, interest and dividends from the investment are remitted abroad and become invisible imports, thus weakening the current account.
D — Balancing Item: 
This is an accounting device to cover errors and omissions. A balancing figure is added to — or subtracted from — the combined balances of the current and capital accounts. The balance of payments accounts always balance because the current and capital account totals together equal the official financing undertaken. As the latter figure is more accurate than the varied data in the other two accounts, the balancing item is calculated from it and is used to make the two totals the same. It is a net figure.
Component # 3. Official Financing: 
 
The Balance for Official Financing (which used to be termed Total Currency Flow) shows the balance of monetary movements into and out of the country. A positive figure reveals a net inflow of funds into a country. Alternatively, a net outflow is represented by a negative figure.
When there is a negative figure, the amount has to be paid for either by: 
(a) borrowing from other central banks and international organisations, or
(b) using up reserves which have been saved over the years, or
(c) borrowing and withdrawing reserves.
When the balance for official financing is positive, then loans can be repaid and reserves replenished. Governments do sometimes borrow even when the balance for official financing is positive; this is in order to build up reserves for the future.
The fact that the amount of official financing equals the balance for official financing ensures that the balance of payments always balances.
So, through official financing, the account as a whole is brought into exact balance (Fig. 21.1). This is why it is said that the balance of payments always balances.
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A country has a balance of payments problem when a section of its accounts are in regular deficit or surplus. Deficit problems are more serious than surplus ones, as surpluses usually result from successful international trading, whilst deficits indicate failure. Persistent imbalances indicate that the balance of payments is in fundamental disequilibrium. This usually requires the government to undertake remedial measures.
[image: ]
[bookmark: _GoBack]SOURCE: https://www.rbi.org.in/Scripts/BS_PressReleaseDisplay.aspx?prid=48273
20

image1.png
Table 2.4. India’s Balance of Payments on Current Account (in Billion US §)

SNo.  Items 2007-08 2008-09 2009-10 2010-11 2011-12 2012-13
1. Exports 1662 189.0 1822 2562 3098 3066
2. Imports 2576 3076 3006 3835 4995 5922
3. Trade Balance 915 -1186 -1184 -1273 -189.9 -195.7
74)  (98) (-86) (78) (-10.1) (-10.8)

4. Invisibles (Net) 757 899 799 793 1116 649
(). Non-factor Services 389 496 357 441 - 64l -
(if). Investment Income -51 40 -80 -179 -160 -
(ii). Private Transfers 417 446 523 531 635 -

5. Goods and Services Balance -526 690 -830 -§32 -1257 -130.7
6. Current Account Balance (Net) -157 287 384 481 -782 878
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Table 2.5. India’s Balance of Payments on Capital Account

(in Billion US §)
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account of net purchases in both debt and equity markets. ~
+ Netinflow on account of external commercial borrowings to India was USS 6.3 billion in Q1 of 2019-20 as against an outflow of US$ 1.5 billon a year ;gfg
ago. 2018
+ In Q1 of 2019-20, there was an accretion of US$ 14.0 billion to the foreign exchange reserves (on BoP basis) as against a depletion of US$ 11.3 billion 2017
in Q1 of 2018-19 (Table 1) 2016
2015
Table 1: Major Items of India's Balance of Payments 2014
2013
(USS Bilion) o1
April-June 2019 (P) April-June 2018 2011
Credit  Debit Net  Credit  Debit Net Archives
A Current Account 1607 1750 143 1557 1715 -158
1. Goods 827 1289 462 834 1201 458
Of which:
POL 116 350 234 18 348 230 Top
2. Services 522 22 200 482 295 187
3. Primary Income 58 119 61 54 1.4 58
4. Secondary Income 200 20 180 188 17 174
B. Capital Account and Financial Account 1410 1272 139 1426 1265 16.1
Of which:
Change in Reserves (Increase (-)Decrease (+)) 140 140 13 13
C. Erfors & Omissions (-) (A+B) 04 04 03 03
P: Preliminary
Note: Total of subcomponents may not tally with aggregate due to rounding off.
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